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Stem: 
Represent the following numbers using a place value column chart and write down the value of the underlined digit, just like we have been doing. 

a) 26                                                 					b) 


c) 271


d) 






e) 540100
100
100

10
10

100
100

10
10



Going Deeper: 
Explain the differences in the values of 6 in the following numbers: 
368
607
56

Deeper still: 
a) 
		


A) Josh says that the above representation is of the number 10031. 
Is he correct? Explain.

B) 
       

Dorrie says that the above representation is of the number 403.
[bookmark: _GoBack]Is she correct? Explain. 

Hitting the Core: 
A)   
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The place value grid
shows the number 467

Is Eva correct? Explain your reasoning.

What do you notice about the number
shown?
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Whitney thinks the place value grid is
showing the number eight.

Do you agree? Explain why.

Using all of the counters, what is the
smallest number you can make?

What other numbers could you make?




